8@m—ES PARTS LIST

LAMBD, Dy lation
Lapcon DesignTec A [
N pa Y = R ded
vbhoO—-Xevy I IG_ lJVB 5_S HN{isHag= No. 0) ® W #EEaU " \eci:mmeln e sclzrews
SOFT CLOSE HINGE Installation instructions Ak (body) faL7/t— (cover) “MS/\~RMal Bind head screw M5
+ MBIEN/IRU Pan head screw M5
¥MBE RS Z2RU. MBRATUSRIL MBERTEFIH.
‘ B ) i 2 RUAN—DEFTET Ao
CORU, %#ii&ﬁ%;ﬁéﬁﬁbjtcfiiﬁbb‘tﬁ E_‘ﬂ'\?3° ¥Truss screws M5 and hexagon socket head cap
BUHEERIICABZE LS BHRHD IR, ELLEDFMIFTEEL, Parts @ screw screws M5 can also be used, but the screw
Thank you for using our product. Before installation, covers cannot be assembled.
please read this manual thoroughly.
B EHATSIE Tools needed
& # 7‘(%1‘%;{! \F (FU)H2.5
14 (pc) 44 (pcs) FALLRISTER
Quantity Hex Key 2.5 mm
(Hes

ARRICOWVLT ABOUT THE PRODUCT
O HEHMEmICERTSY 7 Mo O—XBEEMNED—MEVYITT,

® This is a single-axis hinge with a soft-close
function to be used for horizontal swing doors.

For closing speed adjustment

{t# SPECIFICATION

W &8RP, X Product size

M *#/5E Door size

(66.5) (mm] 2ERD DB SERDDEE
EULZLICIDRFTLEEL =%IC FOR YOUR SAFETY AND CORRECT INSTALLATION . TN For two-piece suspension | For three-piece suspension
700LIF  [mm] ! 700LLF  [mm]
EstSOEk Meaning of symbols ©) 5 _ Max.700 | Max. 700
Frrs - : |
== = Warning o . || y | y
& T ® - | 0 B&SF Caution ® Prohibited o Required 5 :
g % 9 o T
Iz E ! 2
s N ( 2 —— ol L old
o R = " . ) o) . ! ~
A;IE BEEES LN, YNEESHREETD & If not followed, injury or damage l \ *gg o | 1~7ke ‘ gg o/| 7~12kse
BENHBIABZERLET, may result. 4x¢5.2 = 8% 'H
. s i
0 AR IMERIEREATY . TOMBEERFORICIFEALLZL o This product is for horizontal swing doors only. {f V?A ) D[ i
TLIEELY, Do not use this product for other types of doors. d o !
o o \
O isEtE, 5 SEOKE, BEEUTTFOTIEL, @ Make sure to follow the designated dimensions, R . ~ u| !
RORD. BEEPRUNG. HEEEDRRITIEDET, specifications, and horizontal/vertical angles. B Y7 boy0O—-X%AE Soft-close range [

O ROEE. FOREROEECR S 2WEDFrERY M
BUELTLIEEL, Ffe. RUIMTFIEE LIcBDZERL
HERICHHD DIFTLIEE L BYRENRNEL TS E, BN
BEELCITHZT DHBZNDGDHET,

O RLOEHZOREDED, EHNICERL. BLEHLT
REEVBEVNADNS | 7 B 65 B, Z0ild
1ECERERICLTIZELY,

O TR UOEEAR2 N - MEERIC LT RE W,

Make sure that the cabinet and door are not warped,
since it may cause failure.

0 It is necessary to manufacture the cabinet with
sufficient strength so that it endures the weight of
the door and any impact upon opening/closing
the door. Only use designated screws and ensure
that they are fastened firmly.

A cabinet with poor strength or loose screws might
result in the door falling and causing injury.

0 Make sure to check the screws for slack at regular
intervals (one month from first usage, half a year,
and then one time every year is recommended).

@ The tightening force of the mounting screws should be
2N-m.

\ J

\ J

ARMICEATDHTEHRM - M. BEVRD WV EWERTERE. FcF TERORBROICSELLELET,

EFEE=S 03(3864) 1122
ZiEE A~® 9:00~17:30 (&Exk-#k FEHRBSER)

2AHYRALTE

LAMP (0T S 1> &WA—H—

SUGHTSUNE

FAX 03(3863)6875

E-mail : support@sugatsune.co.jp
T101-0032

RERBTFREXEXE2-5-10

ISO 9001 (JSAQ384) - ISO 14001 (JSAES97) BEET
#1S09001: ¥ WEST <. EA#A #IS014001: FEIEBIUMREY5— (SBC)
https://www.sugatsune.co.jp/ 2020.02 1395-1

V7 hoO—XEHE
Soft-close range
0"~ 35°

7Y —#&H
Free range
35° ~ 180°

B EAOEEEEEE  Operating temperature
0C ~ 40T

EEHRE ADJUSTMENT PROCEDURE

SUGATSUNE KOGYO CO.,LTD
Tokyo, JAPAN Shanghai, CHINA
Phone: +81 (0)3 3866 2260 E-mail:export@sugatsune.co.jp Phone: +86 21 3632 1858

SUGATSUNE KOGYO (UK) LTD Guangzhou, CHINA
Reading, Ul Phone: +86 20 6639 3552

, UK
Phone: +44 118 9272955  E-mail:sales@sugatsune.co.uk

SUGATSUNE EUROPE GmbH
Diisseldorf, GERMANY
Phone: +49 211 53812900

Mumbai, INDIA
E-mail:sales@sugatsune.eu

SUGATSUNE SHANGHAI Co., LTD

E-mail:lamp@sugatsune.com.cn

E-mail:lamp@sugatsune.com.cn

SUGATSUNE AMERICA, INC

California, USA

Phone: +1 310 329 6373  E-mail:sales@sugatsune.com
Chicago, USA

Phone: +1312 461 1081 E-mail:chi

SUGATSUNE KOGYO INDIA PRIVATE LIMITED SUGATSUNE CANADA, INC.

Phone: +1 514 312 5267 E-mail:support@sugatsune.ca

Phone: +91 22 28314490/91  E-mail:sales@sugatsune.in

1S09001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified.



